
r =1;
x=1;
n=6;
m=sqr t ( r * r −x* x/ 4) ;
i =1;
whi l e ( i <30)
    pr i nt f ( " i =%d n=%d PI −T=%20. 18f \ n" , i , n, pi −m* x* n/ 2) ;
    x1=sqr t ( x* x/ 4+( r −m) * ( r −m) ) ;
    m1=sqr t ( r * r −x1* x1/ 4) ;
    x=x1;
    m=m1;
    n=n* 2;
    i =i +1;
    endwhi l e    

már 03, 02 0:00 Page 1/1pi−szabnszog.octave

Printed by Zoltan Kovacs

vasárnap március 30, 2003 1/11./Kozelitesek/Pi/pi−szabnszog.octave



ar ct g1=0;
ej =−1;
l og10n=0;
f or  n=1: 100000
    ej =−1* ej ;
    ar ct g1=ar ct g1+1/ ( ej * ( 2* n−1) ) ;
    i f  ( 10* l og10n<=n)

pr i nt f ( " El t ér és a( z)  %d.  l épésben:  %20. 18f \ n" , n, pi −4* ar ct g1) ;
l og10n=n;
endi f

    endf or

már 03, 02 0:00 Page 1/14arctg1b.octave

Printed by Zoltan Kovacs

vasárnap március 30, 2003 2/11./Kozelitesek/Pi/4arctg1b.octave



ar ct g1=0;
ej =−1;
f or  n=1: 50
    ej =−1* ej ;
    ar ct g1=ar ct g1+1/ ( ej * ( 2* n−1) ) ;
    pr i nt f ( " El t ér és a( z)  %d.  l épésben:  %20. 18f \ n" , n, pi −4* ar ct g1) ;
    endf or

már 03, 02 0:00 Page 1/14arctg1.octave

Printed by Zoltan Kovacs

vasárnap március 30, 2003 3/11./Kozelitesek/Pi/4arctg1.octave



r =1;
x=1;
n=6;
m=sqr t ( r * r −x* x/ 4) ;
i =1;
whi l e ( i <30)
    pr i nt f ( " i =%d n=%d m=%20. 18f \ n" , i , n, m) ;
    x1=sqr t ( x* x/ 4+( r −m) * ( r −m) ) ;
    m1=sqr t ( r * r −x1* x1/ 4) ;
    x=x1;
    m=m1;
    n=n* 2;
    i =i +1;
    endwhi l e    

már 03, 02 0:00 Page 1/1pi−szabnszog−hiba.octave

Printed by Zoltan Kovacs

vasárnap március 30, 2003 4/11./Kozelitesek/Pi/pi−szabnszog−hiba.octave



l og2=0;
ej =−1;
l og10n=0;
f or  n=1: 100000
    ej =−1* ej ;
    l og2=l og2+1/ ( ej * n) ;
    i f  ( 10* l og10n<=n)
        pr i nt f ( " El t ér és a( z)  %d.  l épésben:  %20. 18f \ n" , n, l og( 2) −l og2) ;

l og10n=n;
endi f

    endf or

már 03, 02 0:00 Page 1/1log2b.octave

Printed by Zoltan Kovacs

vasárnap március 30, 2003 5/11./Kozelitesek/Log/log2b.octave



l og2=0;
ej =−1;
f or  n=1: 50
    ej =−1* ej ;
    l og2=l og2+1/ ( ej * n) ;
    pr i nt f ( " El t ér és a( z)  %d.  l épésben:  %20. 18f \ n" , n, l og( 2) −l og2) ;
    endf or

már 03, 02 0:00 Page 1/1log2.octave

Printed by Zoltan Kovacs

vasárnap március 30, 2003 6/11./Kozelitesek/Log/log2.octave



f or  n=1: 25
pr i nt f ( " 2. 72/ %d! =%20. 18f \ n" , n, 2. 72/ f akt or i al i s( n) ) ;
endf or

már 03, 02 0:00 Page 1/1expx.octave

Printed by Zoltan Kovacs

vasárnap március 30, 2003 7/11./Kozelitesek/SinCosExp/expx.octave



x=1;
n=maxN=20
expx=1+x/ n;
expx_oct ave=exp( x) ;
f or  i =1: maxN−1
    pr i nt f ( " n=%d T( n) =%20. 18f \ n" , n, expx) ;
    n=maxN−i ;
    expx=1+x/ n* expx;
    endf or
pr i nt f ( " T( n) =%20. 18f \ n" , expx) ;
pr i nt f ( " El t ér és:  %20. 18f \ n" , expx_oct ave−expx) ;

már 03, 02 0:00 Page 1/1expx−horner.octave

Printed by Zoltan Kovacs

vasárnap március 30, 2003 8/11./Kozelitesek/SinCosExp/expx−horner.octave



f or  n=1: 25
pr i nt f ( " ( PI / 2) ^%d/ %d! =%20. 18f \ n" , n, n, ( pi / 2) ^n/ f akt or i al i s( n) ) ;
endf or

már 03, 02 0:00 Page 1/1sinx.octave

Printed by Zoltan Kovacs

vasárnap március 30, 2003 9/11./Kozelitesek/SinCosExp/sinx.octave



#!  / usr / bi n/ oct ave −qf
t  = 0;
f or  n = 1: 1000
 i f  ( pr i m_e( n) )  t  = t  + 1/ ( n* n) ;
 endi f
endf or
t

feb 10, 02 1:31 Page 1/12.octave

Printed by Zoltan Kovacs

vasárnap március 30, 2003 10/11./VezerlesiSzerkezetek/2.octave



#!  / usr / bi n/ oct ave −qf
s = 0;
f or  n = 1: 100
 s = s + 1/ ( n* n) ;
endf or
pr i nt f  ( " %8. 6f \ n" ,  s) ;

feb 10, 02 0:55 Page 1/11.octave

Printed by Zoltan Kovacs

vasárnap március 30, 2003 11/11./VezerlesiSzerkezetek/1.octave


